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BALT RV P8
lE {31 55 e 0] F.Lap
1 2 GOLDEXZE 36.721
2 10 G&You 37.328
3 1 F—LDr. 37.414
4 8 THOER 37.518
5 6 EERRE 37.645
6 3 OVA45 37.724
7 4 I-—18L0EARX 37.783
8 7 LABY>TE17R 38.243
it 14
v SHE 2 Al F.Lap
1 2 GOLDEX®EE/EZLAHH - 36.722
2 10 G&You/ 357 10 8.387 37.360
3 1 F—LDr./LIF7 10 14.059 37.795
4 4 I-F—1FELEAX/EHD 10 16.465 37.426
5 8 THOER/LLE 10 22.344 38.500
6 7 LEABYOTRL7R/ »<F 10 22.903 38.169
7 3 OVA45/L v 10 23.709 38.417
8 6 EERRE/FvE 10 30.215 37.819
ch B
{5z SHE 2 Al Laps = F.Lap
1 4 A=+ FELEAX/ HbEE 10 - 36.957
2 1 F—LDr./ELrED 10 0.198 37.012
3 2 GOLDEXZERE /<57 10 4.259 37.503
4 6 RERARE/ PEL 10 4724 37.466
5 10 G&You/ &b 10 5.034 37.883
6 3 OVA45/Ub 10 8.209 37.955
7 7 LEABY>TE17R/<WIES 10 14.907 37.545
8 8 fTTHOER/VLEICL 10 14.990 38.647
AT
& {3z SHE 2l Laps = F.Lap
1 2 GOLDEX®EFE/ZD 10 - 37.585
2 10 G&You/ <L 10 5.465 37.235
3 1 F—LDr./Z<E 10 6.455 37.326
4 4 I-F—1FELEAX/IEXL 10 7.579 37.537
5 3 OVA45/L\LedL A 10 9.043 37.620
6 6 RERARE/ HDIES 10 11.255 37.666
7 8 THOER/HDOH 10 15.394 38.530
8 7 LEABYO2TE17R/2<5E 10 15.863 37.701
90
& {3z SH 2 Al Laps = FLap
1 2 GOLDEXZEE 128 - 36.793
2 6 EERRE 128 [27.324 37.775
3 4 A-F—AfFELEAX 127 1Lap 37.212
4 1 F—LDr. 126 2Laps 37.249
5 3 OVA45 126 2Laps 37.812
6 7 LASBY>TE217R 125 3Laps 37.711
7 10 G&You 125 3Laps 37.410
8 8 THOER 122 6Laps 38.408




FER A =V
[:{ivd F—L &6 |F1/b IEfi |F1/b =
1 GOLDEX#E 16 [ 12 | 3f | 10 [ 1f1 | 18 | 1fif [ 25 63 =2
2 | A-F—1HELEAX | 4Mu 6 i | 15 [ 468 [ 11 [ 3fi | 15 44 =3
3 F—LDr. 34z 8 200 | 12 | 36z | 12 | 461 | 12 44 0
4 EERRE 8 [ 1 467 | 8 | 6fu | 9 | 2fi | 18 36 0
5 G&You 207 | 10 [ 56 6 207 | 15 | 761 6 28 -9
6 OVA45 74 1 641z 4 561 | 10 | 56 [ 10 25 0
7 LABY>TE#17R 611 2 741 2 81z 7 641z 8 19 0
8 THOERR 5{i 4 81l 2 741 8 8iI 4 18 0
X AREIMITBADIRNICHET S
Rk, HIBOBROLFARI/MERTR CXRHIBTRIEESNEEA)
1l E2m| F3E | F4E | B5E [ F6E B 7E | B8ME| vz 7
(Al lp) 3 |iHRB| -
Ub 3 |iEH®| -
LM 3 |iHRB| -
MKE 2 |GEHW | -
<WiFS 2 |H®B| -
BEE 2 | HB| -
(DEF 1 - - 1
D2DNHX 1 — — 1
HE 1 — — 1
357 - 3 [HER
=3 ) = 3 [ER
SLEI - 3 | iEil
={") = 2 3 5
LEES - 2 - 2
#H#2L\W - 2 - 2
3L - 1 2 3
&HbH = 1 2 3
HhrHxE - 1 2 3
ELHH - - 3 3
<57k - - 3 3
LIFx = = 1 1
{Ale) - - 1 1
<<E = = 1 1




